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	QUESTION
	SC

	The time to remove a node from an array is 


            O(___)
The time to remove a node from a linked list is

(position known) 


                  


O(___)

The time for random access to a node in an array is 

O(___)

The time for random access to a node in a linked list is 
            O(___)


	 2

	Consider a single linked list with a reference to the first and the last node (that’s an unusual case, I know, but let’s just assume it for this question).
After removing an element, these references should still address the first and last node. The times for removal are defined as the time needed for the removal only, NOT finding the node.
The time to remove the first node is



            O(___)
The time to remove a middle node (position known) is

O(___)

The time to remove the predecessor of the last node is

O(___)

The time to remove the last node (and setting the last pointer to its new destination) is (!!! think !!!)


                                   O(___)
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	Now consider a double linked list, where the first element is referenced. Additionally the first and last element are linked, you get a ‘ring’.
    R

    ↓

┌-> O <-> O <-> O <-> O <-> O <-|

└-------------------------------┘
The time to remove the first element is



O(___)

The time to remove a middle element is (position known)                O(___)
The time to remove the last but one element is


O(___)

The time to remove the last element is 



O(___)

	2

	Consider a double linked list with nodes containing the data, and the references next and prev. Assume you have a reference ref to a middle node (=ref.next and ref.prev are both not null). What are the steps to delete the node ?
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